AARFHME NG RT 0 g

L ¢ = 2661 6038

She

TR

=}
K3

LS <P € w3
EFPY I
FEFL L

[—

Wy gy

FEwI -
L
FECBLFEHFE PR RN -4 ERL R RES LR
7 Ehas AP AR P RERY w2 G F
LRTEIRE 2ok LR KRB IR A FRIRS FEY ] F
2ALEITT BB ERHE LA ELE RS ST ERALES o
FEOCFI2ERe AL gA{lF +» Y FEPRI2 € B3 X [E 5 #0
2010 27" 20p 2 3" 0P PR 2k L BRI TEFZ L AR Tl
EECFRZESBEAFEDLIERLEL T L ERFIL LR
ARG ERALEGFRLYERSI0 A AL X ] EFME2LjE g0
TR R IR P R RB o FmEL o WMF FREAFE 7

T
-

p
b

;\wé\i

e

A

ke

gf?,

I A

X

() FRFBREF I RIFFEV NG A NI Z 2 ERGY FTh o A& R
2 FLUE R R E L R 23(F Z) B3¢ 2) 2 OB3(F - ) EF 4
FY-oBIYZBRELENARSFERF o FENAT

Byep P Y 2. 13
¥ - 93(2)
o 23(2) T £ 3:50-5:10 il 4
P = 33(=2)

(

Ji

) EEF T BEIHERAY S RAF L OB RN PR K
BRI T HRAY 8 B RER R P EE P LB
Wb e A RHENR oy P FE AN DA G N7 RE GBS EE L
FREFIE S FERDA o M T
Eyep P b Bl

6/3/2010 (=) |t = 815-12:45| ¥




(=

| S¥)

(

»
7N

Iy

)

)

)

P Y TRITYEA I A RAEA BT P éyfﬂ:té’:-ﬁf;/%rc’ s g
B AR p A FAFY A ENENE PR P SRR 2 g
ABENF o oy P FFARDAF AT REGER A L EREF AR
+ FREEOR o F OB TAT

B yep ¥ R Earl 2 13
103 (=) T = 350-5:15 | R ik bl 4

BEFT IR 2REFE 12/3(7),2603(7) 2 16/47) = 2w F (s (T
WAL O RE TR TAIERE

(1) 5P % LR LoF2RmgEFLiT= 310

(2 Pwz P st g FLO ERENREY B FERERIRT ¥

FERIFEMIEERE I SR REERET 2 RE B X T 2 54 &5
Bo A3 129 (API)TEIPFL AR NERA I RIFETRE
WEF g MFEEOLE 0 &P P FE IR SN2 (p R AY) ) B

il'j £ 9;(-4\: o gi:]‘—g—‘&rv—f N

P # 1 2010& 3% 12p(2¥T)
25 . TX=5001% 800
5:00 - 6:00 254 % 3 (1)
6:00 - 8:00 4% ~ PEEL 2 b 75 (2)

% oL E20%
BEEL p xR 32 1px 3% 2p(AE-%-)F=12157% 1:15
MR ¥ B R T OREKET S F(RURIEREL A d £ 5 )
Fo B b 4 B0 A(STUAREASE AMB R AHF LR
£ ik )
OB R O RTRIELARDFAL 9491 2490
LR
BEERIE G
R A ENE L A% Rz
FE-_P-Lz=-p



CI
K £S
2
li—. A4
Fx eIt
- 5

Iy ‘;X’g

y ,Fl FFE *

> 2 h 7 :’%:h’”}a"

TR E l{i:‘\‘ﬁ: %é:u‘%‘ﬁ,(

E e gﬁ v 7 %kg g_ﬁﬁi
A gr‘ %igﬂ"’g ?Iﬂ;g %J—?%giﬁ r'w e

’ < Iy * % ‘:l

"‘O y

}?ﬁg I']F]-;»fw'
SR S Sy
J Ff%\aiﬁ’

~=i

e O &
%&Fi‘é [Flx g w&L X
REEIF> S qu - ’

e =, &
ﬂ—LfWi ;LJO
AEERBE €
Fl2 &My v %

A% By
o
B IT
J'u?i



